


Številka Šifra

0010 JHCT079.04.003 PCS

0020 JHCT051.01.003 13.94×2.62-
外部件

PCS

0030 GB/T70.1-
M6×14.0- PCS

0040 JHCT047.01.001 INS PCS

0050 JHCT033.02.033 PCS

0060 JHCT011.01.007 INS PCS

0070 JHCT051.01.004 26.5×2.65-
外部件

PCS

0080 JHCT050.03.018 BL PCS

0090 GB6182-M8- PCS

0100 GB97.1-8.0× PCS

0110 JHCT009.04.037 127.0×6.0-
材料本色

PCS

0120 JHCT061.02.019 PCS

0130 JHCT051.01.036 160.0×3.55- PCS

0140 JHCT049.01.003 INS PCS

0150 JHCT059.01.005 PCS

0160 JHCT025.05.013 PCS

0190 JHCT022.10.083 230V/50Hz-
铝线- PCS

0200 JHCT024.07.903 PCS

0201 GB818-
M4×8.0- PCS

aluminum
housing 1

Hexagon socket
cap screws 8

Cross head 
tapping screw 1

Stator 1

O-ring 1

Mechanical seal 1

front cover 1

sealing pad 1

water proof ring 1

Nut 1

Diffuser plate 1

Impeller 1

plain washer 1

pump head 1

dust cover 2

O-ring 1

baffle plate 1

Del Količija

O-ring 2

valve cover 2



0202 GB862.2-4- PCS

0203 GB/T93-4.0× PCS

0204 JHCT041.02.027 厚0.5mm PCS

0205 JHCT086.01.001 VW-1 105°C
600V-黄绿色 米

0210 JHCT032.01.001 INS-BL PCS

0220 JHCT046.02.015 PCS

0230 GB818-
M4×10.0- PCS

0240 JHCT078.02.020 PCS

0250 JHCT055.01.041 INS PCS

0260 JHCT014.05.007 PCS

0270 JHCT051.04.003 PCS

0280 JHCT046.01.027 PCS

0290 JHCT078.02.015 TA PCS

0300 JHCT084.01.025 20uF-
450V,Φ38- PCS

0310 JHCT078.02.011 PCS

0320 JHCT055.01.015 INS PCS

0330 JHCT032.04.024 PCS

0340 JHCT038.04.007 INS-BL PCS

0350 JHCT060.02.003 INS PCS

0360 JHCT018.09.001 H07RN-F
3G1.0mm2- PCS

0370 GB/T276-6202-
2Z- PCS

0380 GB1096-
4.0×7.5-A型- PCS

0390 JHCT023.05.017 90.0-DR510-
420不锈铁- PCS

0400 JHCT038.01.004 d27×D34×H3 PCS

0410 JHCT026.04.017 本色 PCS

0420 GB/T93-5.0× PCS

0430 GB5780-
M5×140.0- PCS

0440 JHCT035.01.002 INS PCS

Spring washer 1
amphenol conne

ctor 3

External serrated 
lock washer 1

Junction box
bottom 1

Cross head 
tapping screw 4

Conducting wire 0.25

Seal gasket 1

Rocker Switches 1

sealing gasket 1

Custom tapping 
screws 2

Cable briquetting 1

capacitor 1
Customization 
tapping screw 2

Junction box
cover 1

Customization 
tapping screw 4

connector nut 1

block 1

Cable gland 1

Cable 1

Spring washer 4

Rear cover 1

Corrugated 
gasket 1

fan 1

Hex bolt 4

Bearing 2

Rotor 1

Key 1

gasket 1



0450 GB894.1-
15.0× PCS

0460 GB9074.8-
M4×8.0- PCS

0470 JHCT048.02.005 PCS

0480 JHCT041.01.001 通过750度灼热
要求

PCS

0490 JHCT041.01.003 750度灼热要求 PCS

0500 JHCT041.02.020 PCS

0510 JHCT086.01.007 有效截面积0.7
5mm2，耐压3 米

0520 JHCT086.01.005 有效截面积0.7
5mm2-黑色

米

0530 JHCT093.02.001 米

0540 JHCT085.01.001 INS PCS

0550 JHCT082.03.001 Φ8 米

0560 JHCT082.09.001 Φ6.5 米

0800 JHCT014.07.001 1.5-2.9bar PCS

0810 JHCT074.01.003 PCS

0820 JHCT020.03.004 G1"内螺纹转G
1"外螺纹；Φ2 PCS

0830 JHCT032.04.002 PCS

0840 JHCT040.06.001 24L,三元乙丙 PCS

0850 GB6187-M8- PCS

0860 GB5789-
M8×20.0- PCS

0870 JHCT016.01.001 PCS

0880 JHCT087.03.004 德国TUV防水
插头-H07RN-F PCS

0890 JHCT085.01.002 PCS

0900 JHCT041.02.016 PCS

0910 JHCT105.06.002 PCS

JHCT093.01.016 毫升

JHCT105.38.002 PCSGrounding 
marker 1

piezometer 1

Hex bolt 2

glue 3.3

Power cord 1

seal gasket 1

connection hose 1

Nut 2

pressure tank 1

Insulating 
varnished 0.075

five way
connector 1

mechanical 
pressure switch 1

Nylon secure line 
pressing cap 1

Grounding lug 4

Nylon secure line 
pressing cap 5

Tie 1

Conducting wire 0.466

Conducting wire 0.2

Tie 1

Insulating 
varnished 0.357

Screw 
component 4

Insulation paper 1

fan cover 1

Connector pin 4

Double-sided 
film 0.06

Shaft retaining 
ring 1


	Prazna stran
	Prazna stran
	Prazna stran



